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441 | BE Bx FHARSC F 50m HikE 4 15 LA E 33.30
442\ HE EI& AEBEARSC F 200m =S]:zfiz 4 15 E | 2:11.80
442|5F Xk FHARSC F 400m =)=z 4 15U LE | 44210
443|FE HN FBHAKSC ¥ 100m | Hik&E 4 15 LA E | 1:03.40
443|F % Bk FHARSC F 200m | HikEF 4 15l E | 2:15.90
444|1%¥ il FBHAKSC ¥ 100m | Hik&E 4 15 Ll E | 1:04.90
44|25 i FHARSC F 200m | HikEF 4 15l E | 2:19.60
445|BA F& AHASC ¥ 200m | EHikE 3 13~14%% | 2:36.60
446[/NETRARE FHARSC F 200m | FikEFE 3 13~14i% | 2:49.20
446|/NERARE AHASC TF 100m | /N8 754 3 13~14%% | 1:10.40
447|/E BRI FHARSC F 200m | EAARL— 3 13~14i% | 2:30.70
447\ BAF AEBEARSC xF 400m | B AARL— 3 13~145% | 5:20.00
448|% %7 HER FHARSC F 50m HikE 3 13~14%% 31.20
448|% %7 HER FHAKSC xF 100m HikE 3 13~145% | 1:07.50
49K EREB FHAKSC F 400m =)=z 3 13~14i% | 4:47.30
450|#hK FEH FEHAKSC TF 100m FikE 3 13~14i% | 1:15.40
450|#hk FR EEASC zF 200m | FKE 3 13~145% | 2:44.50
451| LA = ABEASC TF 50m | /\3T54 2 1M~128% 29.00
451| LB = EEASC ¥ 100m | /8254 2 11~125% | 1:04.50
452| %M FHiE AHASC ¥ 50m HikE 2 1M~128% 33.20
452| 4t FiE FHAKSC zF 100m | &EikE 2 M~12% | 1:11.30
453(7% BRI AHEASC ¥ 50m HikE 2 1M~128% 30.50
453|Z BEE ABEASC ¥ 100m | &EikE 2 11~12i% | 1:06.10
454 B IERE AHASC TF 50m =S]:zfiz 2 11~127% 31.40
4551 B FHAKSC F 50m HikE 2 11~125% 34.50
456t BF FHAKSC ¥ 50m FikE 1 10 LT 40.60
456t BE FHAKSC zF 100m | FikE 1 10 LLT | 1:28.00
45772  1HE FBHAKSC ¥ 50m HikE 1 10 LT 33.80
4572 FHARSC zF 100m | &EikE 1 10 LA | 1:15.10




No. K4 B2 %1 A EE #H 93ANo ISR B4 L &%
458| L¥F BRiK FHARSC F 50m HikE 1 10 LT 38.20
459|3kJR A E m&EDC BF 100m | /2754 4 15/ AL 57.06
4593k JR A E mEDC BF 200m | N\BTS5A 4 15 Ll E | 1:59.70
460/ XE =X mi#EDC BF 100m | BHEF 4 15/ AL 55.80
460| X% @EIAX mEDC BF¥ 200m | EEf 4 15 Ll E | 2:02.00
461|=3F &R mi#EDC BF 200m | FikE 4 15 Ll E | 2:15.39
461|=8F &R m/EDC BF 200m | EAARL— 4 15Ul E | 2:07.15
462|f@Kk B2 mi#EDC BF 100m | Fik&E 4 15m Lt | 1:08.12
462|187k =E mEDC BF 200m | FikEFE 4 15l L | 2:24.75
463 AR FEiA mifEDC BF 100m | Hik&E 4 15/ AL 58.71
463 BR [ElA mEDC BF 200m | HikEF 4 15l E | 2:05.12
464| HIFEZN miEDC BF 200m | AAARL— 4 15 Ll E | 2:15.16
464 B IFIEZ AT mEDC BF 400m | EAARL— 4 15l LE | 4:47.39
465|135t BE miEDC BF 100m | FEkE 3 13~14%% | 1:15.66
4663k BE mEDC BF 100m | &HikE 3 13~14i% | 1:06.35
4661+ BE [E3p:0]e: BF 200m | HikEF 3 13~14%% | 2:26.75
467|TIR FE mEDC BF 100m | &HikE 3 13~14i% | 1:03.59
467\ =& miEDC BF 200m | HikEF 3 13~14%% | 2:15.51
468| K45 & mEDC BF 50m =)=z 3 13~14%% 26.67
468|K¥E w3} EDC BF 100m =S]=zfiz 3 13~147% 58.01
469|118 =3 maEDC BF¥ 200m | EAAARL— 3 13~14i% | 2:29.89
470|# @ &3} miEDC BF 50m FikE 3 13~145% 33.10
470\t H &3 mEDC BF 100m | FEikE 3 13~14i% | 1:12.00
AT1|fRE #FTK miEDC BF 100m | FEkE 3 13~148% | 1:12.57
AT1|1R7E #K mEDC BF 200m | FikEFE 3 13~14i% | 2:38.40
4728 # mi#EDC BF 50m =]::5i 2 1M~128% 28.69
472|ZH # mEDC BF 100m =)=z 2 11~125% | 1:01.79
A3 HER ' FEDC ¥ 100m | /\3T54 4 15 E | 1:01.99
A\ HER IR mEDC TF 200m | N\BTSA 4 15 E | 2:13.00
474|7BE BAMG mi#EDC ¥ 100m | Fik&E 4 15mLE | 1:11.24
474|768 ElE mEDC zF 200m | FikEFE 4 15l L | 2:34.20
475|550 E mifEDC ¥ 50m =]::5i 4 15/ AL 27.20
47550 ET mEDC zF 100m =)=z 4 15 LA E 58.90
476|fkf8 2 EEDC F 50m =S]:=z5iz 3 13~145% 29.21
477 BR K3k mEDC TF 100m | &HikE 3 13~14i% | 1:04.95
477/ AR K3k mi#EDC ¥ 200m | EHikE 3 13~14%% | 2:19.01
478(HHN EAEE mEDC zF 200m | EAARL— 3 13~14i% | 2:30.14
479|H £ #3s miEDC ¥ 50m FikE 3 13~145% 33.70
479|H £ = m/EDC TF 100m | FEikE 3 13~14i% | 1:12.20
480|812 FEDC xF 200m | B AARL— 3 13~145% | 2:41.28
481\ HEHE mEDC zF 50m HikE 2 11~125% 33.83
481 |+t HE miEDC ¥ 100m | Hik&E 2 1~128% | 1:13.22
482 % & mEDC zF 50m FikE 2 11~125% 37.23
482|Hh % & mEDC TF 100m | FikE 2 11~12i% | 1:23.44
483| ENFEKR T maEDC zF 50m =1=:5 2 11~128% 31.24
484|8H ¥ E BEDC ¥ 50m HikE 2 1M~128% 34.16
485| FrILIR < 1E mEDC zF 50m FikE 2 11~125% 39.21
486|FAIL K& IYI-JSRT B5F 50m =S]=z5iz 3 13~145% 25.71
486|RL K& IYI-JSRT BF 100m | BEF 3 13~145% 56.30
487|/NEp B IYI-LSRT BF 100m | /2754 3 13~14%% | 1:01.20
487|/M 8y EER II-JSRT BF 200m INRTSA 3 13~14% | 2:18.00
488| TN #EHH I)I-JSRT BF 100m FikE 3 13~14% | 1:07.61
488(TT N B IYI-SRT B5F 200m | FikEFE 3 13~14% | 2:25.31
489|BkR 23t IYI-LSRT BF 50m HikE 2 1M~128% 33.00
489|BEIR &3 IYI-JSRT B5F 100m | &EikE 2 11~12&% | 1:10.00
490| |1l FEE IYI-LSRT BF 50m FikE 2 1M~128% 37.00
490|F)Il FNEE IYI-LSRT BF 100m | Fik&E 2 11~12i% | 1:20.00
91|=K EF IYI-JSRT TzF 50m FikE 4 15 UL L 37.70
M=K £F IYI-JSRT zF 100m | FEikE 4 15 LA E | 1:20.90
49211 BN ¥ IYI-LSRT ¥ 400m | BEEf 4 15 Ll E | 4:35.00
49211 A IYI-SRT F 200m | EAARL— 4 15l L | 2:25.00
493|EH  F IYI-)LSRT TF 100m =S]:=z5iz 3 13~145% | 1:05.50
493|FFH  F I)I-JSRT xF 200m BB 3 13~145% | 2:17.50




No. K4 B2 %1 A EE #H 93ANo ISR B4 L &%
494\ 2K FEK IYI-JSRT ¥ 50m | /\ZTSA 3 13~145% 30.27
494\ XK FEK IYI-)LSRT ¥ 100m INRTSA 3 13~14i% | 1:06.94
495|EH SD IYI-)LSRT F 50m BB 3 13~145% 28.03
495|FEH S50 IYI-LSRT ¥ 100m | BHEF 3 13~14%% | 1:01.15
496(#t £ KEA HPRNER B 50m =1=:5 3 13~145% 28.65
497|IUAK BRI HEWNER BF 200m | EAARL— 3 13~14i% | 2:15.66
497(ILAK BRI HPRNER B 400m | EAARL— 3 13~145% | 4:48.00
498|F2K @z HEWNER BF 100m | /\3T54 3 13~145% | 1:06.25
498|F2K @z HPERNER BF 200m | EAARL— 3 13~14i% | 2:28.39
499|REr HEHED HERNER BF 400m =]::5i 3 13~14i% | 4:33.84
499| K% #5ED HPMNER BF 1500m | EER 3 13~14i% |17:33.80
500[EL BE HEWNER BF 50m INFTSA 2 11~127% 31.80
501|#2 4K FME HPERNER zF 50m =1=:5 2 11~125% 31.25
502(tH R &1 Z-UP BF 200m | B AARL— 3 13~145% | 2:24.21
502|tH R &1= Z-UP BF 400m | EAARL— 3 13~14i% | 5:07.57
503 | T R AER Z-UP BF 50m FikE 3 13~145% 31.04
503 | H #F AR Z-UP BF 100m | Fik&E 3 13~14%% | 1:07.66
504|#E B Z-UP BF 200m =S]:=z5iz 3 13~145% | 2:13.32
504|#aE R Z-UP B5F 400m BB 3 13~145% | 4:35.20
505| K& F#UA Z-UP BF 50m =]::5i 2 11~127% 29.76
505| K& F A Z-UP BF 100m | BHEF 2 11~12i% | 1:04.51
506|1HE & Z-UP B 100m | &ikE 2 1~128% | 1:12.10
507|% {&F Z-UP BF¥ 100m | BHE® 1 10 LT | 1:14.75
508|FH & Z-UP T¥ 200m | BEf 3 13~14%% | 2:21.06
508|AHE & Z-UP zF 400m | EHEHR 3 13~14%% | 454.95
509|#E BRIK Z-UP TF 50m HikE 3 13~145% 33.63
509|#E RkIK Z-UP zF 100m | &HikE 3 13~14i% | 1:12.53
510/ K ¥ Z-UP TF 200m =S]=zfiz 3 13~14i% | 2:16.32
510|faK #F Z-UpP zF 400m | BER 3 13~14%% | 4:50.95
511|HR BX Z-UP TF 100m | BHEF 3 13~14%% | 1:05.28
511|HIRE EX Z-UpP zF 200m | EEf 3 13~14%% | 2:19.88
512)11%F  ZE T7ATTY BF 200m =S]:=z5iz 4 15l E | 1:53.27
512(J14F 2= 74T TV B5F 400m BB 4 15 E | 3:59.67
513(BEM A4t T7ATTY BF 200m =S]:=z5iz 4 15 E | 1:59.12
513| Mk E 4t 74T TV By 100m | /8754 4 15 LI E | 1:00.01
514|fRik B& 74T TV BF 100m | &ik&E 4 158 LI E 59.41
514(Fk  B& 74T TV B5F 200m | HikF 4 15l L | 2:06.49
515dbfE 58 T7ATTY BF 200m =S]=zfiz 4 15l E | 2:02.17
515|dtiE /5B 74T TV BF¥ 400m | BAHR 4 15mE | 42146
516(ILOEERK T7ATTY BF 200m | EAARL— 3 13~145% | 2:28.55
516(ILAZEE R I7ATTY BF 400m | EAARL— 3 13~145% | 5:13.63
517|8F & I7ATTY BF 50m =S]:=z5iz 3 13~145% 28.59
517|188 & 74T TV BF¥ 200m | EAARL— 3 13~14i% | 2:26.88
518|/\E&IRF T7ATTY BF 50m INZTS5A 2 1M~128% 30.96
518|/\EEIRF 74T TV BF 100m INRTSA 2 11~125% | 1:09.77
519|lu@ 2= 74T TV BF 50m FikE 2 1M~128% 36.76
519|lu@ %= IT7A4TTY BF 100m | Fik&E 2 11~125% | 1:18.69
520(&H EE T7ATTY BF 50m =S]=z5iz 1 10 AT 32.39
520|<€H EEE 74T TV BF 100m | BHE® 1 10FLUT | 1:11.47
521|faH &E* 74T TV BF 50m =]::5i 1 10 LT 32.36
521|#8H Z&F 74T TV B5F 200m | EAARL— 1 10T | 2:57.28
522|fkmE & T7ATTY BF 100m =S]=zfiz 1 10 AT | 1:15.78
522|{kpk & 74T TV B5F 200m | EAARL— 1 10T | 2:51.79
523|f0%F BH: I7A4TTY ¥ 200m | EHikE 4 15 L E | 2:32.38
524|HHE BHHE 74T TV TF 200m | EHikE 4 15 E | 2:23.61
524|HH BEXx I74A4TTY ¥ 200m | AAARL— 4 15 Ll E | 2:26.80
525|iR)Il ME 74T TV zF 100m | FEikE 3 13~14m% | 1:13.61
525\iF)Il HE 74T TV T¥ 200m | FikFE 3 13~14%% | 2:35.48
526| A+ thE 74T TV TF 50m | EHikEFE 2 11~128% 33.90
526|EFT thE 74T TV T¥ 100m | &ik&E 2 1M~128% | 1:12.92
527| %7 Bkt 74T TV zF 200m =)=z 2 11~12% | 2:25.71
528|5H IF4HE 74T TV ¥ 100m | /\3T54 1 10 LT | 1:21.00
528|5H 34 74T TV ZF 200m | EAARL— 1 10 LA | 2:56.73




EH 93ANo ISR
529|EH Eth J\I&ESC BF 400m =)=z 4 15 Ll E | 4:14.01
529|FEH Eh J\IEESC BF 1500m | EE@F 4 15m Ll L [16:39.69
530|KH L% J\IEESC BF¥ 100m | /82054 4 15m AL | 1:00.38
530|KH L% J\IBESC BF 200m | \2D54 4 158t | 21285
531|IUA [EX J\I&ESC BF 100m | &EikE 4 15 Ll E | 1:04.48
531| LA FEXR J\IEESC BF 200m | EHikE 4 15 Ll E | 2:19.78
532(IUAK BFE J\I&ESC BF 50m =)=z 4 15 L E 26.10
532(ILAR BBFE J\IEESC BF 100m =S]=zfiz 4 15 L E 57.73
533|=iF HE J\I&ESC BF 100m | /\8T54 4 15:% Ll E | 1:00.00
533|=m BE J\I&ESC BF 200m | \2D54 4 15m Ll E | 2:09.00
534|m)Il E J\I&ESC BF 100m | &HikE 3 13~14%% 59.00
534(mlll E J\IE/ESC BF 200m HikE 3 13~14i% | 2:07.10
535|8FF Kis J\I&ESC BF 50m FkE 3 13~14%% 34.08
535| &K Kt J\IEESC BF 100m | FEkE 3 13~14%% | 1:14.60
536|[EA K J\I&ESC BF 100m | FEikE 2 M~12% | 1:1443
536(fEA K J\IEESC BF 200m | B AARL— 2 11~12i% | 2:28.81
537|%ith EAR J\IEESC BF¥ 50m =1=:5 2 11~128% 29.96
537|F M ER J\IEESC BF 100m =S]:=z5iz 2 11~12i% | 1:05.33
538|iX HEINEA J\I&ESC BF¥ 100m | BHE® 1 10T | 1:13.15
538|ix FHEIKEA J\IEESC BF 50m HikE 1 10 LT 37.05
539|&EAR = J\I&ESC zF 200m | EAARL— 4 15/ E | 2:27.50
539| AR = J\IEESC ¥ 400m | AAARL— 4 15 Ll E | 5:08.00
540|IRA  HE4l J\I&ESC TF 50m INFTSA 4 15 L E 29.35
540(3R A FEH4T J\IE/ESC TF 100m | /N3T54 4 158 L1 | 1:03.18
541|&% ®#ifE J\I&ESC "F 50m BB 4 15 LA E 27.90
541|%% #AfE J\IEESC TF 100m =S]=z5iz 4 15 Ll E | 1:00.90
542| =%F BF J\I&ESC "F 200m BB 4 15 E | 2:06.50
542| =%F BF J\IEESC F 400m =S]=zfiz 4 15 E | 4:24.00
543|°FH £ J\IEESC ¥ 100m | /82054 4 15 LA E 59.52
543|°FH X£= J\F&/ESC ¥ 200m | /\2D54 4 15m Ll E | 2:09.04
544|F HTE J\I&ESC F 200m | EAARL— 4 15l E | 2:16.89
544|3R HTE J\IEESC ¥ 400m | AAARL— 4 15 LA E | 4:49.08
545|%th H2 J\I&ESC zF 100m | BEF 3 13~14%% | 1:01.00
545|FHth EFE J\I&ESC xF 100m FikE 3 13~145% | 1:16.00
546|5R &M J\I&ESC "F 200m | EAARL— 3 13~145% | 2:16.00
546[5R &M J\IEESC F 400m | B AARL— 3 13~14i% | 4:45.00
547|EH E1E J\I&ESC F 200m =)=z 3 13~14i% | 2:22.14
547|EH B1E J\IEESC xF 400m =S]=zfiz 3 13~145% | 4:56.97
548| =18 $R J\I&ESC F 200m =)=z 3 13~14i% | 2:08.80
548| =I5 #R J\IEESC ¥ 400m | BEf 3 13~14%% | 4:30.40
549 | R[] HIKE J\I&ESC F 100m | /N3D54 3 13~14i% | 1:03.23
549 | Fh ff] B {k & J\IB;ESC TF 200m | N\BTS5A 3 13~14i% | 2:2047
550/ F L BEF J\I&ESC F 50m HikE 1 10T 37.51
550|# L BEF J\IEESC ¥ 100m | Hik&E 1 10T | 1:23.97
551 H BAIK J\I&ESC "F 50m BB 1 10 AT 34.20
551(% M BAK J\IEESC TF 100m =S]=zfiz 1 10 LT | 1:15.50
552|fA Rk J\I&ESC F 50m FikE 1 10 LT 42.84
552|A RE J\IEESC ¥ 100m | Fik&E 1 10T | 1:32.73
553|)IIA EEB J\I&ESC F 50m =)=z 1 10 LT 33.36
553|JIIAK ZEEB J\IEESC ¥ 100m | BHEF 1 10T | 1:15.98
554|7&H T4 FESLEH B 50m BikE 4 15 LA E 27.25
554\ &H T mEFLH BF 100m | Hik&E 4 15/ AL 58.33
555| 5 4k #hifE FEEAH B5F 50m =)=z 4 15 L E 23.14
555| 5 5k $hiE il BF 100m | BHEF 4 15/ AL 49.69
556 |/ 5A%% FEEAH B5F 50m =)=z 3 13~14%% 27.55
556ith A% e e e BF¥ 100m =S]:z5iz 3 13~145% | 1:00.98
557l & FESLEH BF 50m FikE 2 11~125% 34.78
55711 & FEHLEH Bx 100m | FEikE 2 11~128% | 1:15.02
558|i%)Il 4R FEEAH F 50m FikE 4 15 LA E 33.06
558|i%)Il 1A FEHEH ¥ 100m | Fik&E 4 15 L | 1:11.01
559| LT~ BAZY FEEAH F 50m =)=z 3 13~14%% 29.74
559(ILTF BERY FEEER TF 100m =S]:=z5iz 3 13~14i% | 1:05.61
560(7k 3 BXIHR, FEEAEH zF 100m =)=z 3 13~14i% | 1:06.03




A #H 93ANo 93R
560(7k 3 BXIHR, FEEAH TF 200m =)=z 3 13~14i% | 2:21.89
561[iE:8 =5 FBEAEH TF 50m =S]:=z5iz 2 11~125% 30.44
561|iE:8 ET FEEAH zF 100m =)=z 2 11~125% | 1:06.13
562| KE BmW SR NI BF 100m | Fik&E 4 15m L | 1:03.57
562 RE BmM T XU BF 200m | FikEFE 4 15m Ll E | 2:21.36
563| 5% KE T XS BF 100m =S]=zfiz 4 15 L E 57.11
563| 5% K& T7AH L BF 100m | /\2754 4 15mLLE | 1:01.09
564| Ay {ER SR NI BF 50m FikE 4 15/ AL 31.63
564| Al {62 SR NI B5F 100m | FEikE 4 15 Ll E | 1:07.36
565| 5 i SR NI BF 100m | Hik&E 4 15m L | 1:01.89
565|583 #E SR NI B5F 200m | HikEF 4 15Ul E | 2:1352
566|588 EEH T XS BF 400m =]::5i 3 13~145% | 4:30.39
566|588 EH SR NI B5F 200m | EAARL— 3 13~14i% | 2:20.20
567|%ih ZEH 7 XYL BF 100m =S]:=z5iz 3 13~145% 55.87
567| %t Z=F SR NI BF¥ 200m | EAARL— 3 13~145% | 2:15.69
568| AR =[5 T XYL B 50m FikE 2 1M~128% 37.08
569|FEIE S =L SR NI F 50m HikE 4 15 LA E 32.89
570\ &t F#b T XS ¥ 100m | /2754 4 15m L | 1:07.43
570(F 4t F#b 7 XYL TF 200m INRDT5A 4 158l | 2:26.65
57| BR F1& T XS F 50m =S]=zfiz 4 15 L E 26.75
5| BER FiF SR NI zF 100m | BHE® 4 15/ L 57.12
572| %t FEJTH T XS ¥ 100m | /N8 754 3 13~14%% | 1:10.07
573|Fa4t e #et YIRSCHE BF 400m =)=z 4 15l L | 4:00.07
573| B84t [ #E YIORSCIMEE BF 1500m | EE@F 4 15m Ll L [15:31.13
574|#3E FIR YIRSCHE BF 400m =)=z 4 15l L | 3:59.90
574\ FIR YIORSCIMEE BF 1500m | EE@F 4 15m Ll L [15:34.60
575 KATAEA YIRSCHE BF 100m | &EikE 4 15 Ll E | 1:00.72
576| 8% = YIORSCIMEE BF 50m =S]=zfiz 1 10 AT 32.90
576|FHE = YIRSCHE BF 100m =)=z 1 10 LT | 1:11.52
577| KA ZEF YaRSCHME F 100m =S]=zfiz 3 13~145% 59.63
578| KB (% YaRSCIMEE zF 50m =1=:5 3 13~145% 29.90
578| RE k% YaRSCHME F 100m =S]:=z5iz 3 13~145% | 1:05.66
579|BIFF YaRSCHEE zF 50m FikE 2 11~125% 38.21
579(RIRF P YaRSCHME F 100m FikE 2 11~12i% | 1:23.10
580|EH EM YaRSCHEE zF 200m | EAARL— 1 10 LLT | 2:55.16
581(#TH f#X AIRSC BF 50m =S]:zfiz 4 15 L E 25.10
581(F#TH &KX AIRSC B5F 200m | FikEFE 4 15l L | 2:25.00
582|#H £ A& BIESC BF 200m | EHikE 4 15 LA E | 2:15.00
582|H L HFH AIRSC B5F 200m | EAARL— 4 15l E | 2:15.00
583|iEHE &R BIESC BF 200m | fAAARL— 4 15 Ll E | 2:07.50
583|;EHIE AR AIRSC B5F 400m | EAARL— 4 15l L | 4:33.00
584 (3k[E FOA AESC BF¥ 100m | /\3T54 4 15 UL L 58.00
584 |3k R FOH falRSC B5F 200m | N\BTS5A 4 15l L | 2:06.00
585| AiLRZ At BIESC BF 100m | Hik&E 4 15 AL | 1:04.50
585| NiLIRZ v AIRSC B5F 200m | HikF 4 15l E | 2:19.00
586 | ZE A <F FE &R BIESC BF 100m | Fik&E 4 15m AL | 1:04.00
586 | 2 Al <7 FE2H AIESC BF 200m | FKE 4 15 E | 2:16.50
58714 1&4 AESC BF 100m =S]=z5iz 4 15 L E 54.80
587(tEH &4 HIRSC B5F 200m BB 4 15 E | 1:58.00
588| KA — & AIESC B5F 200m | B AARL— 4 15 E | 2:05.00
588| KN — & HIRSC B5F 400m | EAARL— 4 15 E | 4:35.00
589|118 A B BIESC BF 50m INRZTSA 3 13~145% 27.90
589| )11 5 AER AIESC BF 100m | /8254 3 13~145% | 1:01.94
590|H E A AEA AlRsC BF 100m INRZTSA 3 13~14i% | 1:01.50
590|F LA AKER AIESC BF 200m | \BTSA 3 13~145% | 2:13.00
501|=1F & AIESC BF 100m | Fik&E 3 13~145% | 1:06.74
591|=3F 2 AIRSC BF 200m | FikEF 3 13~14i% | 2:21.04
592|7EIL 4I4t¢ AIESC BF 200m =S]:zfiz 3 13~145% | 2:03.00
592|fE1L 4I4v AIRSC B¥ 400m | BHER 3 13~145% | 4:29.00
593 (#)IITE £ A BIESC BF 50m =S]:zfiz 3 13~147% 27.05
593|401 TE R A AlRSC B5F 100m =)=z 3 13~14i% | 1:00.25
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